Time : 3 Hours _ ~ Marks : 160

Instructions :

(i) Each question carries one mark. :
B8 (B o8 Srdy ol

(ii) Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4 in the circle
pcrta_ining to the question number concerned in the OMR Answer Sheet, separately supplied to
you. ' :
Bifos 3DYd (28 RS adgedd T8S* 0TS HIrEHHRE 235 IV
2700d woB 1, 2, 3 % 4 F&Hm anyd OMR Jroes DESnet (A%
Howedoid Bowgho HBES go/as oS Zroxod Do) aRTrAcy DodhE T

BOTANY

1. The families which belong fo order polemoniales are ,
(I) Poaceae (1) Solanaceae (1) Convolvulaceae (TV) Anacardiaceac
FORrUTHOT (#3728 Tolbd Hwowren 1
1) &ohd Iy e (Il SarguogBh  (IV) #5579 0%
(1) (m, av) (2) (I, (1) (3) ), av) (4) 1, (V)

2. The nitrogen base, uracil is absent in the organism causing
(1) Potato spindle tuber discase (2) Scrapic disease of sheep
(3) Mosaic disease in tobacco (4) Crown gall of pear
6 g0 ForED 226" 3Bud Fdd dwohs sodd
(1) s’ 9yesd &mgwb gl 2) ﬁ“’[ﬂurﬂ" ﬁ::—%ﬁa Ead Jal
(3) >mds® Bweron 3758 (4) Ro%sbes® 75 mS &8

3. Buchner discovered zymase enzyme from an organism. The characters associated with this
organism are ]
(1) Unicellular and budding (2) Branched and septate body
(3) Multicellular and unbranched hyphae - (4) Multicellular and budding
wo¥y5 w €2 $r00 2did 0T ISFHoM LR 7B, O 2028 HowodoRd virod
HoQoSod .
(1) 2% Ewasndo H0BR ©£5°53N8 (2) Tyroindo 800 HHosné DEo
(3) wimomuindc DO TErdod Sokdw (4) pEo¥moindo Sodudw |56° 65 S 58
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4.

Identify the correct pair of combination

(I) Preris — True indusium — Microphylls :

(I) Funaria — Peristomial teeth — Paraphyses

(IIT) Selagineila — Heterosporous — Sessile sex organs

(IV) Cedrus — Archegoniate plant — Unbranched stem

B0 DRD Do¥RoR a:r‘.h&;: Ha80S0d

() BOS — dz modrghchds — gy PEW

() pgToosr — Hodny Soorew — SirdodiHes

(111) ?owa?fb‘gr' — 93 'brgbaa odndo — a‘s;,oﬁd%a‘é th:ﬂ;&oﬁm‘m
(IV) D5 — w8y AfAchSud SOAS SwE) — rerdird stodo
(1) @, av) (2) dm, av)

(3) (n, (v) - (4) (1D, (D)

Identify the characters of Nerium, Ficus and guava respectively

(1) Solitary cyme, syconus, whorled phyllotaxy

(2) Multilayered epidermis, Sorosis, Hypogynous flower

(3) Polychasial cyme, Unisexual flowers, Inferior ovary -

(4) Dichasial cyme, Edible fleshy peduncle, Hard seeds

580525, HES HB Hostd ofmes BEHHm Mmiodcd

(1) Dxod dpdo, HEHH, Sfab JE dagao

(2) wirodshdind ardeg J&;0, 2505, wodSrgtd DR Yo

(3) wirorddis NISo, IEDoHE Py, VS:y woarH050

(4) ogwmdals SR)de, 83 goddo Pay g é;aé’so. K D ares
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6. Study the following lists
List-1 s List-11 ;
(A) Agave : (I) Branches of limited growth perform photosynthesis
(B) Cucumber (II) Buds of stems modified into thorns
(C) Casuarina (IlI) Floral buds help in vegetative reproduction
(D) Asparagus (IV) Axillary buds modified into tendrils
(V) Needle like phylloclades
& (80d wheod wfgdhno Sodhod
Dol A arder-11
(A) &@dS (I) 88rmdg SoTorh (Bl 20D NS DHMISo Ao TP
(B) &% (1D a’mvﬁoan' SrroEfo DodS ok S¥rw
(C) s*a=Ba (1) a8 oS (Hdagd 8BS §'4yd Hay Fesw
(D) &3)0°dS (IV) 500 8o $r8:) Bodd (AdD Bwfos
(V) Soedso orod J&y scomTew
The correct match is
ad HoTLD FhoR - '
(A) (B) ((€C) (D) :
() m Ny - )
2 av) ) O {d
() () (1, - av) (V)
@ @ ah W av
7. Identify the correct pair of statements _
(I) Ratio of number of flowers in 10 inflorescences of Jasmine and the number of carpelsin 10
cyathium inflorescencesis 1 : 1 : -
(II) Ratio of number of stamens in a Brassica flower and Tulip floweris 1 : 2
(IID) Number of staminal bundles in pea and Crotalaria are equal
(IV) Ratio of number of carpels in the flowers of Derris and cucumberis 1 : 3
[Slejenstel TEREO =85 :‘bgc;\:"ao&
M) D560 10 Hhy dogros™ Do dopg Hock 10 JErdahS DAY
DTgros’d podvre Dopgo Dayd 1:1m sotod
() (ardse So0dkn ergdd P o’ Sdove dogrg VA8 1:2m goknod
() w&~d Sbde (o dsaires® Tdore Doare Dowg HINJom Gotnod
(IV) BO5 boin LHhonbo Pryod'd Pudvwre dogrg A0y 1:3 M 4otuod
(1 M. a - (2) (), (Iv) (3) @, av) - (4) (), (11D
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In which of the following plants, male ;and female flowers are produced oﬁ different plants ?
(I) Cucurbits ) - (lI) Papaya
(11I) Coconut . : (IV) Date Palm
& 808 BuSocd IS Dovh S0dx Yy DT D) JnfHo Db a8
®Q)Tewn? '
() 5504w . (I) &"&yox
() 8238 | ¢ (IV) pgordo
(1) @D, (V) '
(2) (D), (1)
(3) (D, (1)
(4) (M, aV)
Assurte that there are 5 flowers in an inflorescence of Solanum nigrum. Each microsporangium
of every stamen of every flower contains 80 pollen grains. What is thé total number of pollen
grains produced from that inflorescence 7
af FordSo DB Bhy degheds' 5 D;jer eodhd grdodod. (B8
Dayestd #8 35008 Todd (P8 wrERg Derdcsio 80 HorH Teowywdo
O dob. @ Phy ITEHo oD dd33 ety dordTme Fwdo bowg
K0 ?
(1) 4000
(2) 320
(3) 1600
(4) B0OO

Rough Werk

AM 2016 A 4R



A,

Identify the correct pair of statements

10. .

() Cell wall formation in the eight nucleated monosporic embryo sac of an angiosperm-
occurs at 4-nucleate stage - |

(1) 1In Helianthus family, the micropyle, chalaza and funiculus in an ovulc are on the same
vertical line : | '

(111) In the wall of an anther, middle layers are present between.thc layer having fibrous
lhickening’s and the layer nourishing developing pollen grains

(IV) Many ovules are present in the ovary of orchids.

DOTHS Frgwge agd 0o0Sod

(D w5)8 Dzos™ DB Bogsro ¢ B da By Do os® Sndargen
2dydbo 4-Todse SHeS® mfardiod :

(I 5r0Srodd SHivon Bu)od® wodaes™ sodagdo, Serar, wodd)odo
¥ Deod) Vo o580 dosrox

(Il oK% Hdgos™D Jagg Bddes Sodsbud Sioored £OA sod Y
So0050 D) Vokds) bod BeoHokHh Hh gzbmvgvu:u b8Hnor dH
S Soggs® aorow :

(IV)u8) 80 woariched® »3¢ womor Gobrow

(1) (D, [ (2) (), (1) (3) (), av) (4) (I, (IV)

11, The ratio between the number of series in ]jicotyledonae and Monocotyledonac in Bentham

and Hooker classification is

BoagrSo, Tusb 3888woe* B SOET, a:-s‘s-cmﬁod‘m (Ao Sowgo Sodyg

N858

0 @) 2:3 (3)’2;1 @ 3:2
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12. Two flowers from two different familics with swollen placenta and standard petal respectively
were observed. The type of corolla in these flowers respectively is

(1) Polypetalous, gamopetalous (2) Gamapctalous,-pnlypelalnﬁs

(3) Gamopetalous, Gamopetalous . (4) Polypetalous, polypetalous

4DyS wobargho B8csn Sgz Bldo SOAS Tod Pryods Jok FTgh
Howred® ddam Hdowd. & DTS’ vige DHEEP o S
(1) edooingc, Socingo (2) %odingo, mRodixio

(3) Hodsngo, dookwgo 4) whocingo, eBociugo

13. Identify the correct pair of combination °
(I) Cis — Maturing face
(m Lys:;somes — Nucleases
(I11) SER ——.Symhesis of lipids
(1V) Peroxisomes — Endomembrane system
H0 TS To¥DoR =8l Mfodod
(I) D5 — HEgs Dododady famwm
() BT Hrws — Hr§ThBI®
(Il) SER — O%&6o f{:'oﬂ-{hm
(V) Do @ Bows — wodd &g 5359
(1) (I, () @ @, av) ) 0. @ (0. 1)

14. The ‘R’ group of amino acid ‘serine’ is
oS wsio HES gy ‘R’ ddnardo :
(1) OH (2) CH, (3) NH, (4) CH,OH

Rough Work
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15. Study the following lists

List-I | List-11

(A) Prophase (I) Spindle fibres attach to kinetochores of chromosomes
(B) Anaphase (I) Initiation of assembly of mitotic spindle

(C) Telophase : (II) Separation of ¢hromatids '

(D) Meiaphase . - (IV) Synaptonemal complex

(V) Reappearance of cndnplasm:c reticulum
& Lgo& zderod: gdodo Wdbed

arfee-1 @Dor-11 :
(A) (DEHSH ) %03 & TSI 35868 est‘.’sag‘a_!:l Sodob
(B) So3484 (II) $08 H88J0 ErdE |Srdofo
(C) woBdBots¥ () (588 Jdowdo
M) $o§g089 (IV) D> Hd Sofqo

(V) @oéé& Ldéﬁaa‘vo PSiNd dBdo
The correct match is :
20 BOTHI #féaeY ' ’
(A) B (© (D) '
(M am - vy @O av
2) (p @) avy ap
AR S (N
4 am dan @ V)

16. Identify from the following having equal number of chromosomes
(1) Synergid cell of potato
(IT) . Stem cell of Rice
(1II) Meristematic cell of Maize
(IV) Leaf cell of onion
& Bod NS =8 BB Doy L§‘3:~:3“5am ¥y TE a‘b&odo&
(I e::on'{fdaooarj‘ DafoS Ewmo
(II) 50¢5°0 =08 E¥so0
(1) 30), &5 dyraggaey Swo
(TV) s8ng D8&mo ] - :
(1) (I, (1) (2) (0, (V) (@) am, av) (4) (1), (1)
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i7.

Which of the following chatacter is found in grasses ?

(1) Cells help in curling of leaves
(2) Parenchymatous pith in the centre of the stem
(3) - Cells with casparian strips in the stem

(4) Bean shaped guard cellls

& (805 TES D vEwmo (G IwEest EIBH067

(1) sShes 3u8S85edE DHHHT oo
@) sodo $g8g8® HoyfnErocing Sig
(3) Toded® 08 WOEw fo Swrew

(4) D&y do Nowmes*d CES Swrew

18.

Identify the correct combination
(1) Duramen — Conduction of water

(2) Spring wood — High density

" (3) Phelloderm — Sclerenchymatous

(4) Companion cells — Conltrolling the functions of sieve tubes
50 TS F¥Doty®: d:foS0B

(1) drgd®S — Q8 (ddde

(2} Shodordd — 288 Jodd

(3) »'E5; — 8¢ Smerodiudo

(4) P& foros — Tod FTYRO Do Va0 @oId0
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19, Study the fullowing lists

List-I : List-II

(A) Asparagus (I) Ephcmeral

(B) Casuarina (I) Root succulent
(C) Tribulus : (II) Stem succulent
(D) Aloe (IV) Non succulent

(V) Leaf succulent
& (B0b wdervd wdgdhbo Dabod

el eIl .
(A) &3550°0S (1) soy5*d8 Twd),
(B) s B> . © () gdges B
©) Lﬁa:ag_-vﬁ (D) 6%zo& s~odo
(D) ed® (V) 5%godo 0 Doy

(V) 80588 Hiso

The correct match is
28 Dok #'doD

(A B) (©) (@O
(13 0Ny SR - 1y k)
@  av @O V)
()R V) Y
4) (v) @av) amy @

20. Which of the following is #er a correct statement ?
(1) Climax community remain stable as long as the cnvironment remains unchanged

(2) Establishment of new biotic community is generally slow in the areas where primary
" succession takes place

(3) The entire sequence of communitics that successively change in a given area arc called
sere

(4) As the succession proceeds, the number and types of decamposers are not uhanged
& |Bod FBS* L0 Tgwg 2872
(1) srerddm DO Fdowo SroHod s SFBH8d Pdom @owod

(2) (rgans @éots‘.%w 207 (Pdros §E £5 H¥ucrasro TS Idgam
adatodoad

(3) =€ (pTh¥os® DD LIwercires ISTod (KEod BB, BT dgT),
[Feofu wodrdy

(4) edEie =01 Fob SRR Sopg, S5ten HrEY
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21. Study the following table

& (B0d DYES wEgaedo Tohod

Cell Water Potential Pressure Potential
gmo V8 450 wds 980
(kPa) (kPa)
A -356 , 471
B —423 293
C —44K 396
D 563 Y et S eal

Arrange the four cells in descending order based on their solute concentration
S sty ool T8 (ERSMmEddor esfarE (§Hed eddyed
(1) C,A,D,B @) 'BAC.D . (3 DCGAB @ ADBC

22. ldcntlfy the physiological function of two essential ¢lements, where the former is an integral
part of chlorophyll molecule and the other required for the sy nthesis of chlorophy!l respectively

() Constituent of ferredoxin

(II) Component of nitrate reductase

(II) Activator of PEP — cacbouyiiase

(IV) Stomatal opening ;

HEHM 30888 JErd vm wodoyiom, S0T8, D80 BIBT08 DoARRd
wSHESThga™ 60T Bod wHigd Swrose Bairdd) ofarod Hafoded
1) Hoard)S whopaofo :
1) 3EE 04¥ES" edsposto

(Il) PEP — 5707888 adugo

(IV) 6| $60|gme BENSE S0

(1) @, an (2) (D, (I0) (@) dam, dy- (4) @), (1v)
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23. Study the following lists

List-1 List-I1
(A) RuBisCo : (I) Hydration
(B) Pyruvate dehydrogenase (II) Carboxylation
(C) PEPcase (TII) Dehydration
(D) Fumerase (TV) Oxygenation

(V) Decarboxylation
S 1800 erdervdn wdedhdc Wobod

@ der- Dol
(A) RuBisCo () d=dsdwmo
(B) R&IE G @ 2FS 1) sovpy8yBas
(C) PEPcase ) dgbesmo
(D) RgSoBE (IV) w8 8dm S$dg

(V) dooy8ydas
The correct match is
a8 H6od =f8odP

T ® © (D
M avy @y ay @O
2) O (V) 11 (Im
G an @ (v
@ avy v a @

24, The number of ATP and NADPH molecules consumed in Calvin cycle for the formation of
trioses required for the synthesis of 4 sucrose molecules
4 r(F°S oo H0FARH BHBEWTHY (LTrdw BV Sedho mrgoc IS BELOS®
DD'{':BJ‘H&'}JT:S&JS ATP,NADPH © e#ace Sopg

(1) 72 ATP, 48 NADPH (2) 144 ATP, 60 NADPH
(3) 126 ATP, 96 NADPH _ (4) 144 ATP, 96 NADPH'
Rough Werk
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25.

Identify the correet pair of statements .

() In cacti, RuBP carbnxy'lation takes place during night,
(1) Tn Zea, PEP carboxylation takes place in bundle sheath cells,

(1IT) Photorespiration involves the consumption of ATP molecule

(IV) The CO, concentration in the vicinity of RuBisCo is high in sorghum
HEOBS Frgwge pdS: MQovod

1) 53 RuBP s7o7)B)0e8mo B3¢ wdifdood

() ad:b*é" PEP s'::s-géb&'*’dmo Doz &%k Sorodt adiidiod
() s0d mga@o:sm* ATP © DOTrfo @otood '

(IV) ﬂfgfmd* RuBisCo &sod @8Hcs® CO, m§s wh¥om @owod

(1) M, av) (2) (m, av) G) (D, @y @ O a

26.

Identify the correct pair of statements

() Acetyl coenzyme ‘A, the degradative product of fats can enter the respiratory pathway

(1) NADH molecule generated in cytosol 3 vields less number of ATP molecules as compared
1o NADH molecule generated in mitochondria

(111) Copper proteiﬁs are integral part of ‘Cytochrome be,” complex

(1V) The terminal acceptor of clectrons in aerobic respiration process is NAD"

DOTD TEWEY z.-:éa":;- ﬁaéodo&

) EFHge 2DHHy vod a::) e BS Co-A avst.:@.w .oqsoes‘a CEE RN

() ¥ (Bdgos® 2834 NADH E:»cﬁ"s'a@oﬁ:"é‘ D63d@ NADH $0B 88533
bowgd® ATPoS: ‘DEHE3D00

(@) “& (E°Ss be;' Bofhos® HE (FEden eod o yAo

(IV) srasn agd|805e” dogryee wodd: Hgsd NAD'

() .00 @ ),y @) @AV @ )

Rough Work
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- 27. Study the following lists in relation with discovery and physiological functions of hormones

List-1 List-11
(A) Herring sperm DNA (1) Improves the shape of app‘lelfruit
(B) Oat coleoptile () Drives K* out of guard cells
(C) Bakanae disease (III) Delay of leaf senescence
(D) Ripening fruits (IV) Synchronization of fruit set in Pineapple

(V) Parthenocarpy in tomato

53‘5‘3_59&;- SJ" 00k, @°ed %36456& Qomod ddw dIom & 308 =Dewd
w@gohdo Johed

ardor-1 o1
(A) " 8of [pdvadareo DNA () wHd dSuve usedo onsSdo
(B) 48 |ZroH85oHEo (I) BEY¥ ¥wro H0d K of wchesd dodde
(© asﬁ 50 : () sere 2Jdd vodgddldo
(D) 2¥¢& Tododad) Dorw (IV) 8a25¢8® oo SdosEd ad~Na

(V) &3r-8%* sdhfdodo
The correct match is
28 VOTHE FdoH
@ ® © O
(M a @y @ ™
@ an @ da av)

G am v O av
4 & M an @

Rough Work
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28. Study the following lists
~ List-l List-T1
(A) Oxygen scavenger (I) ABA
(B) Protection of chlorophyll against photooxidation  (II) Peat
(C) Induction of dormancy (I1Iy Ethephon
(D) Statification | (IV) Leghemoglobin
: (V) Carotenoids
& Bch wdeod ogfsdiodo Schod
o1 . a1l
(A) wdyed wdrgdsom () ABA
(B) H@orodo 5708 wlyfdm ol SEw (n &
(€) Sedxdpde (BTvode (D) dB>S
(D) F98PERS (IV) SR3OS
(V) £6°8oronden
The correct match is
ad HoTHE #fBoH
A ® © 1
() (v ay)y dam {n
@ av) @ am )
@ av)y v O @
@ any a @O O
29. The symbiotic associate of Arachis shows the following characters under aerobic conditions
(1) Unicellular, Cellulosic cell wall
(2) Rod shaped, Unicellular, 808 ribosomes
(3) Rod shaped, Unicellular, Mesosomes
(4) Filamentous with plastids : ok,
woPBS vrdsde Vo 2D sos» vrd 8 $ & 1800 viwred IrHB0d
(1) D¥gfmcsndo, Dorgd dond Eniddo
(2) doars*do. ~EEmdSnso, B80S B 'Joen
(3) Soars*do, o5SmadnEo, DTIT S0
@) FrRdgd €en sodocinsom God&o
Rough Werk
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30.

“The ICTV scheme consists of these levels of hierarchy

(1) Order, Family, Genus, Species

(2) Series, Family, Genus, Species

(3) Family, Genus, Species

(4) Phylum, Class, Order, Family, Genus, Species
ICTV h@gc & $888m Joneod £OA dotnod
(1) (%0, Htvowo, (Pz8, =8

(2) [(3d, Seoowo, (P28, =8

(3) SHénowo, (W, =B

(4) oo, 8818, o, Savona, (DS, =8

31.

L

In Mendel’s dihybrid cross, the ratio of rrYy and rryy in F, generation is
odS Bgtosd Hofmodd F, g8cs® mYy $o0csn myy © VRnE
(=21 g (2102 s S 4 5:2

32.

A pure pea plant with round seeds having large starch grains is crossed with another pure
pea plant with wrinkled seeds having small starch grains. The I heterozygotes formed arc
self pollinated. What is the phenotypic ratio of plants with round sceds and small starch
grains to plants with wrinkled seeds and intermediate starch grains expected in the F,
generation ? )

g Boddod TmPHods LOAD fod8 s vod ol DY DT BeE S
28y Doddory Trmoposs EOAS Sxds0ds 835) Do sod 08 By
@i Bn¥) 8 Dosde Sakcdo 2dRod. 8¢ F, dane ooy erod” DghorH

“Hoddjo addwdaed. . S8o0e® Hoo(dd béa‘ow.'aﬁlbﬁ’ God Boddog

Baodyodr HOce InESNdd ad) ITOIT, Sogghom eod Boddmy
BaoHesr £EAS K &yfgdrd Qa8 Jod dodHSay?

(1). 32 B 0 e e D) @) 3:4

Rough Work
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33. Study the following. lists
List-I
(A) Binding of RNA polymerase
(B) Binding of repressor substance
(C) Repeated amplification

List-II
() Taq polymerase
(Il) Promoter
(III) rop

(D) Codes for proteins for replication of plasmid  (IV) UTR

& (S0l wrdeved vdgahdo Fakhod

el
- (A) RNA 05 TES* mcad0 =560
(B) B 2>8 facmgoé‘ zoddo s Hbo
(C) IS8 3w
D) %8 @Page sos (s
8% BosBov:iss

The correct match is
&8 HOTY #doYy

(A (B) (€ (@D
MO O @ av
2 0V) am @
@) iy av) (V) @
@ ay v @© @

34. Escherichia coli in which both the strands of DNA are labelled with '*N is transferred 1o
"N medium and allowed to replicate for two generations. Find out the number of light

DNA molecules in the second generation.

DNA Bod fSen PN&* Sand Jahwds 243000 0% "N o airssos's
278 Bods Soro S8 S5l )EL0w . Todd 5os* 05 DNA smsio

S0 apg?-ia KR 5o 5.

(V) Operator

erdor-11

() &E 30888
(D [@3reb

(III) rop

(IV) UTR
(V) udd68

Qs (4) 2

(17 8 (2) 4
Rough Work
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35, A segment of polypeptide has the sequence of amino acids ; Tyr — Arg — Cys — Ser — Gly.
What is the triplet sequence of DNA from which mRNA segment is transcribed to produce

this polypeptide segment ?

of SODPE poddod® v uvdres & S8dE R0 aaryon ﬁTIJArg
——Cys—Scrl-w-Gly.lés FORE a,:oriéd SSrEd osnest edddSTlg mRNA
poderdd wgrdBd DNA TwoE) |(@8Sxo S Iba? .

(1) ATA GCA ACA AGA CCA (3) CCA GCA AGA ACA ATA

(3) AGA CCA GCA ACA ATA (4) ATA CCA AGA GCA ACA

36. Arrange the following steps in the process of isolation of DNA in correct sequence

(I) Precipitation of DNA .

(II) Treating cells with cellulose or chitin degrading enzymes

(II1) Treating with protcases and ribonucleases

(IV) Separation of pure DNA by spooling

DNA 50 2558 Sosn B853S’ 6 Bod S S0THS SBDEB08° BHTy0d
(I) DNA edga0 '

() daros ergs'S dov 385 2033 Fh I5BSw0s eDIsy wodeo
(1) (@80Hh&E Saacﬁ» Bfsrichiod edddg adsbo

(IV) 6§ DNA%s $0BS's oo SEbdSe

(1) (), (am, @), av) ' (2) dm, avy, dj. dn
(3) (), (m), @), av) - 4) (D, (1v), (W), (Im)
Rough Work
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37. Swdy the following lists

List-1 List-II
(A) ori : ' (I) A small segment of ssDNA or RNA
(B) Selectable marker (IT) Separation of DNA bands from agarose gé!
(C) Probe (II) Eliminates the non-transformants
(D) Elution - (IV) Starting of replication

. _ (V) Links the DNA fragment
& (8cb edared efediado Hohod

@ Dar-] ; -l
(A) ori , (D ssDNA ©or RNA sy D35y podso
(B) Jo%g Fohdd 518y (I) o58'E B wob DNA whodk SHhddbeo
(C) (@S . () 26585 Todd e SvfoSudbo
(D) Qorghs (IV) (=88 |&rdodfo

(V) DNA poderod Seoydocd

The correct answer is

28 HOELS 8o

W
1y am M @O
) av) @n @ d
@) @ A a av
@) ay) dam vy dn

38. Identify the correct combination

(1) ‘Flavr Savr’ tomato — Herbicide tolerant

(2) Transgenic golden rice — Rich in vitamin A
(3) Atlas 66 wheat — Bruise resistant

(4) Basmati variety of rice — Prevents blindness
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39.

A

In mung bean, resistance to powdery mildew was induced by

(1) Mutations (2) Hybridisation

(3) Sematic hybridisation - (4) rDNA technology
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40'

Study the following lists

' List-I List-11
(A) Large holes in Swiss cheese (N Sacchammyées
(B) Fermentation of fruit juices (II) Monascus
(C) Blood cholesterol lowering agent ' (11l) Clostridium

(D) Production of butyric acid: {(IV) Streptococcus
: ' (V) Propionibacterium
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